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ERST R {ION ( 71,010, 000) | (A 2, 660, 000) | ( 68, 350, 000) | FA : 5710T/H (1A + 1AM Y 14947)
10~3H FLiA 1 130 0 X 88% X @ 14900
P S HOE-IVON 71,010,000 | A 2, 660, 000 68, 350,000 | : 5710T/H (1A + 1AM Y 14947)
10~3H FLiA 1 130 0 X 88% X @ 14900
Lt EIVON 7717, 000 33, 000 810, 000
ZOMOFHERA ( 400, 000) | ( 0) | ( 400, 000)
A PETS B 400, 000 0 400, 000
XS Sl KA TON [ 1,000] ] [ 01 |[ 1, 000]
3NN [ 1,000] | [ 0]|[ 1,000]
Z DDA [ 473, 000] | [ 140, 000] | [ 613, 000]
BIGIEGE 28 5 (VN 350, 000 140, 000 490, 000
HELA 123, 000 0 123, 000
HEIGEIAGE (1) 72,662,000 | A 2, 487, 000 70, 175, 000
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kSRS R 1,075,000 | A 160, 000 915, 000
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PR S 60, 000 60, 000 120, 000
THAERR FLA & 28 S ( 430, 000) | ( 50, 000) | ( 480, 000)
R 70, 000 0 70, 000
[ZREE 4 240, 000 0 240, 000
T DR 120, 000 50, 000 170, 000
TRIBRE 722, 000 0 722, 000
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AR 10,000 | A 10, 000 0
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FLBLARRSH 1, 000 0 1,000
TRAFREZ 157, 000 0 157, 000
s a 5, 000 0 5, 000
S 10, 000 0 10, 000
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it 35 R it 5 U S 2R (6) = (4) — (B) A 1,900,000 | A 370, 000 2, 270, 000
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A
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T2 3 H (10) [ 1,000]] [ 0] |[ 1, 000]
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